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REN K 17 9957 297V IR3 75 1KY nev: 9aR — However if she married
and the witnesses came afterward, she need not leave.

Overview

The case at hand: Two 07V testify that the husband died, and two other 2>7¥
testify that he is alive. All agree that initially she may not remarry. If she
remarried (her 1'fSJ), the 2°»5n maintain that she may remain married to him.
DY °272 OnIn "2 maintains that she is required to leave him (since it is 2N
"n1). However, if she did remarry (her 7¥) before the second group of 2*7¥
testified, then >"2n7 agrees that she need not leave him. X271 infers from >"227
that we are concerned for X1°7 27 xn>°1.

X»yw) — And the reason why *o1 *2712 omn ' claims that she need not leave” is —
RI°7 927 Xn»or 2w — because it is demeaning for the 7''92 to change a ruling.

mooIn has a difficulty:

‘2N 72 Pwaw 2% qwm — and the X"aw= has a difficulty, with this
interpretation that the reason >0 272 0mIn °27 says X¥N X7 is on account of R1°7 27 RMPT,

RAYY YT *7192 w7 — for you are forced to say that the reason for x¥n x5
is not —

N7 K107 927 XM 2w — because it is a N197 27 XD

1= an7 — for if it is indeed so; that the reason of Xxn XY is because of X317 *27 XxM>*T,
then the ruling should be —

NRw1 XY %587 — that even is she did not remarry yet —

Rwivh 7719907 XOR — but rather 7"°2 permitted her to remarry on the basis of
the (first group of) 0”7V —

Xwin — she should be permitted to remarry, even after the second group of o>
came and testified®. If 7"2 will change its original ruling on account of the second group

' See previous ox1 1"7 MDOMN.

* The view of the 231 does not indicate whether or not we are X°7 *27 Xm>"r> w . The 0131 maintain
that Xxn X7 in either case, whether 7"*2 gave her permission to remarry or not. They are of the opinion that
7" 2 does not have the power to separate them on account of a P50 to 7", since the parties themselves have
no P90 (see previous X1 11"7 MooIN). There is no XM?°7 here at all; they can always remain married (see
following footnote # 3).

3 "1 is of the opinion that xgn (if she remarried when it was »n1 > n). This indicates that he is of the
opinion that 7""2 will separate them on account of the 720 to 7"°2. Why should it be different if she
remarried before the >0 *7N; now it is a situation of >N >0 and the same P90 exists?! 827 infers from this
that it is only because of X317 *27 Xn1?>1 (for previously 7">2 permitted her to remarry); therefore 7">2 does
not take any action. However if nRw°1 >"nX1 079 X2 (we say R¥n, for) there is no Xn12°1; since 7"°2 never
permitted her to remarry.

* (178 'on) 129w2 o917 ow Y.

> See footnote # 11.

% See previous oXY 7"7 MoOIN that we are discussing a case where she is marrying one of the 07y who is
certain (as she is) that her husband died.
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of o7y, it will be a X1>7 27 ¥Xm?*1. It is the opinion of NdOIN that there is a X1°7 °27 RM?°T,
not only when the original poo of 7"2 was acted upon (i.e. the woman remarried), but
even if no action was taken. The mere fact that 7"2 changes its ruling is considered a
RI7 527 RKM2°T —

R°31077 922 yewnTs — as is indicated in the entire discussion here in the X3 —
RXM2>1 82987 — that there is a X1°7 °27 XnY»r -

YR TRy K a8 IR — even if no action was taken, based on the 7"2 po».’
The fact that >"2»7 says Xx¥n &2 only if nXw1 but not if it was only Xw1? 7’01 proves that
the reason of XXn X2 NXWI OXY is not on account of X1"7 *27 XM?7. There must be a
different explanation®. How then, can X271 prove from *"an that we are concerned for
XM?°1?

mMooIN anticipates a possible rebuttal to his question and rejects it.

511 9377 I°RT X2 21 — and if you will say, indeed it is so; that on account of
Xm>°1 we should allow her to remarry even if @2 17°n7, and in fact it is so as well, for
T%RPT nXW — when it says in the Xn*72 ‘and she remarried’, it does not
mean that she actually remarried; but rather —

RwvH 0w 17 — it means that 7" permitted her to remarry. mooin
will now explain what would the term '®¥n &%' mean if NXWw1 means Rw*% M7 —

TWRIT 7007 R¥N K5 292 — and she will furthermore ‘not be required to
depart’ from her original permissible status. The term 'xxn X2' will mean that
once she was given permission to remarry, she never leaves that status that she acquired;
the status of a woman permitted to remarry. If we were to interpret NXw1 and X¥n X% in
this manner, the objection of the X"2w" will have been addressed. If she retains her "n°7,
this certainly proves that we are concerned for Xm®r.

The X"2w" rejects this rebuttal: We cannot say that the term nXw1 means X% M7 —
NRWI 9 MRY 27V N2T — because when the Xn»72 mentions the case of
when the 2°7v came and then she was nXW1, in that case —

w1 "3% XY — we cannon interpret the term 'nXw3' to mean that —

Rwv% 71707 — they permitted her to remarry; for since it is > >0 then 72
will certainly prohibit her from remarrying —

R9X — but rather in the case of nxw1 3"nX) 27y X3, the term 'NXw1' means —

wnn PR — she actually remarried (without permission from 7"2). Therefore we
must assume that the term 'NXw2' in the case of 0’7y X2 2"NXY NXW1 also means WnHn NRWYI.
That only if she actually remarries does *"217 maintain that ¥¥n &5. However if it was
merely Xw% m7°n7, then the ruling would be that she cannot remarry if the other o>7¥
came. This should prove that we are not concerned for X1°7 27 Rm?°T —

7 Later the %3 will be discussing the issue of X1°7 *27 Xm27 in regards to the 71972 status. There is no
indication that any action was taken when either confirming or disclaiming his status as a 772.
¥ moown will shortly state what that explanation is.
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?amm2 931 — and you are forced to say that the reason for X¥n X2 079 182 2"AX No™
is not on account of XM»*1, but rather —

N»YWY — the reason why it is Xx¥n X? is because —

byan a9 opon X2 XpDonT — we cannot take her away from her husband
just on the basis of a doubt; that maybe she is still married to the original husband.
A 90 is not powerful enough to take such a drastic steplo.

NP9 2wwn K9 — but it is not on account of XM 1. We are not concerned
with kxm%°1. If we would be concerned for Xm>°1, then she would be able to remarry once
7"»2 permitted her. The question remains; how did &27 derive from >"2n7 that we are wwn
for 81°7 27 XnY2°1?

ND0IN answers:
2272 @ — and we can say as follows —

X9 2wn XRpw a9wh — really the reason of X¥n X7 is because of Xny»ss.
There was a difficulty however; if the reason is because of Xm>1 then even if Rw% Mnn
she should retain this 7077 even after the other 2>7v came. NM501n will explain that there is
a ’n21°1 only if wnn nRw1 but not if Xw1H M.

297V IN2 T2 N DRWID K17 — and only if 297V IN2 O''IRY DN —

R197 927 RMP9T ROOR — is there a X197 927 KnWHa1, if 72 will force her to leave her
new husband. moon explains:

291w 2% N1 720w — for this woman is already presently forbidden to
have relations with the whole world —

NRwIw 3190 — since she remarried. Her present status is that of a married woman.
NX%1 — so it comes out —

DRI 7YY 7MOKY PR A — that which 72 is rescinding its permission
to forbid her to this witness whom she married;

122 R9R 1797197 PR — we are rescinding our permission only in regards to
the 7v. This is the only accomplishment that this new prohibition will effect. This is
considered a ®m?°1. First 7"2 says she is permitted to remarry, then 72 says you must
leave this 7v, whom you married. For the rest of the world this rescinding is meaningless;
they were not able to marry her while she was married to the 7¥ and they cannot marry
her now either, on account of the *3n1 0. The 771717 is only in regard to this 7¥.

DRI 27 2°7Y N2 a8 ®ax — however if the 297y came before she
remarried; then even though she had a 907 to remarry -

NNY99T 829 - it will not be a XMHST if 72 voids that 70’1, The reason is -

? See footnote # 11.

' This will explain the difference between nxw"1 and Xw>> mna. If it was merely Xw*> 11707, then we
cannot use the X120 of Hvan 7% >pon XY KpP°0on7, since she is not married yet. In the case of 2"nRY 2>7y X2
nRw1 we will (be forced to) say that it is a 01p since they were 712 on 72 pos. See footnote # 13.

" The X"2w" is not phrasing his question in the form of; ‘how can we prove from *"2»7 that we are wWwn
XM7°12, perhaps the reason of Xxn X7 is because ¥an 177 *pon K7 Rp*o0n’. Rather the question is phrased that
since we certainly cannot use the reason of &n12°1, therefore the reason must be because of 717 °pan K2 X001
Syan. See footnote # 13.
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773 ®»7 — for forcibly 7" -

PWRT TN AP P2 — is required to rescind the first blanket =nvs.
Originally when only one group of 2>7v came, 72 gave her a 70’7 to remarry whomever
she pleases, since no one contradicted the 0°7¥. However now since she did not remarry
and a second group of 27¥ came who contradict the first group, then obviously 7"°2 must
retract the first 0’7 —

291p77 959 78Ry 970 — in order to prohibit her from remarrying to anyone.
She certainly cannot marry now whomever she pleases, for it is >0 *3n; there is a P20
XN KT WK nwr.'? She (at most) can only remarry the 7v —

N2 829 72957 — therefore there is no Xm»t —

JSTTEY % MR 2970 aR — if 72 will also prohibit here from marrying
her witnesses". A xr7 >37 xm%1 is only if it seems that 7"2 made a mistake. If new
07y come then everyone understands that the original pos of 7"2 cannot remain. 7"2
cannot permit a XN*7IXT XP°00. Once 72 changes its p0d concerning everyone, there is
no XM?1 if we include her 2>7¥ in this 710°R. People will understand it is part of the
general M0°X. However if she actually married one of the 2°7¥ and then the second group
of 0’7y came, then if 7"2 will change its pos it will affect only the 7v who she married;
everyone else is already MoX from before (since she was married to the 7v) and will
continue to be 7oK since it is *M . There is no compulsion for 7"°2 to prohibit the 7v
and the woman to remain married, for they both maintain there is not even a M0°X po0. If
7"2 will change their p0? it is a X7 *27 XM,

XY 11927 — This answer was given over in the name of the 5''1.

Summary
There is no ¥xm>1 if the change of a pod to an individual is included in a

general necessary change to the community at large.

Thinking it over

Perhaps the reason for X¥n X2 no°1 oX1 is because of 7Hvan 117 *pon XY Xp*oon
and the reason it does not apply to No°1 3"nXY O°7Y X2 2R is because there,
they transgressed the prohibition of 7", therefore we say Xxn as a 01p?"*

12 4" certainly cannot permit a XN*IXT P90 on account of a XI°7 *27 XMPT.

" mpoin explained how it is possible that the reason for X¥n X 2>y 12 2"1X) N1 is on account of XM,
There was no explanation however why we cannot say that the reason is on account of 7% >pan X2 Xp*00n
Svan; in which case there would still be no prove that XnY2°17 1w (see footnote # 11). It would seem that
if given the choice it would be the reason of Xm?°r over the reason of 2 Xp>o0n. If the reason is 13 Xp¥00n,
then why if nRw»1 3"nXY 7Y 182 do we say Xxn! It should be xx¥n K7 since "2 11°pon X2 Kp>oon. See “Thinking
it over”.

'* See footnotes # 13 & 10.
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